Bellwork  Alg 2A  Thursday, October 20, 2016

1. Given this line: 8x+ 6y = 27
a) Write the equation of the line that is Perpendicular to the given line but passes through the point (5,-3)

b) Write the equation of the line that is Parallel to the given line but passes through the point (-2,7)

2. A line passes through these two points:  (0,0) & (-2,7). The point (x,12) is also on this line. Find the
missing x-coordinate. .

3. Use the table of values below.
X |Y

6 (7.5
-4 |5

2 |-2.5
8 |-10
12 | -15

a) Add a third column to this table. In this column find the value of this ratio: {— Round to. the nearest

hundredth if needed. What do you notice?
b) Use the graph below to plot these five points. What do you notice?

N |

Q
[

8]

N

[\

T
op

N




Bellwork  Alg 2A  Thursday, October 20, 2016 - L__\__Wz?—:j

1. Given this line: 8x+6y =27 —> :_2;1_2" ~Yx + 4SS~

a) Write the equation of the Ilne that is Pergendlcular to the given line but passes through the point (5,-3)
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b) Write the equation of the line that is Parallel to the given line but passes through the point (-2,7)

m= 1)

2. Aline passes through these two points: (0,0) & (-2,7). The point (x,12) is also on this line. Find the
missing x-coordinate. —

3. Use the table of values below.
x|y | Y%

6|75 | -/ 28

4 |5 g 2§

2 |-25|—/.2{"

8 |-10 | —=/.&8"

1215 | = /.28

Y

a). Add a third column to this table. In this column find the value of this ratio: . Round to the nearest

hundredth if needed. What do you notice? T\A@-{ all have +Hre same rato
b) Use the graph below to plot these five points. What do you notice? .
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